[image: ]
image1.png
SOLVING A FORMULA Solve for the indicated variable. SOLVING EQUATIONS Solve the equation.

@Arca of aTnangIc @Valumc of a Rectangular Prism 16.2x +7=15 17.3x—-1=8 18. % -5=-1
Solve for b: A = —bh Solve for h: V = Lwh | .
19.%4'13:20 20.30=16+§.! 21.6=14 -
22,7+ 2= -1 23.3-3x=-6 24.22=18 - Ly
8 3 3 e . 22 e
—_— 1 25. 8x — 3x =10 26. ~Tx +4x =9 27.x+5x—5=1
REWRITING EQUATIONS Rewrite the equation so that y is a function of x. .3‘ —7+x=5 2.3x-2 =18 30. 122 - x) =
B2 +y=5 16.3x + 5y =7 17.13 = 12x — 2y SOLVING EQUATIONS Solve the equation if possible.
18.2x = ~3y + 10 19.9 — y= L.5x 20.1+7y=5x—2 18. 4x + 27 = 3x 19. 12y + 21 = 9y 20. —2m = 16m — 9
L 4n = —28n — 120 =4 =12 . =30d + 12 =
21'%_7=_l‘ 22'%-\_+3=_5X 28 At dy—5= 14 21.4n 8n — 3 22.12¢ = 4= 12 23. -30d + 12 = 184
1 24.6 —(—5r)=5r—3 25.6s—11=-2s+5
4. Tx —4x + 12=36-5 25. (y+2)+3x=17
* Y 3+ 2+ 3x=Tx 26.12p—7=-3p +8 @—lzq+4=8q—6
.‘(\-’X)—S"‘ 2.4 —3(y-2=15+y 28. —7 +dm =6m — 5 29. -7+ 11g=9-5¢
30.8 - 9r=21r—17 31.24 - 6r=6(4—r)
32.3(4 +4x) = 12x + 12 33. —4(x - 3) = —
34.10(—4 +y) = 2y 35.8¢ —4—5a—2) =

‘9(b 4) = Tb=5(3b-2) 37. =2(6 — 10n) = 10(2n - 6)




